## **Award Worksheet**

Purchasing Entity: Shelby County Schools

**Bid ID:** 2679

Awarded:

**Run Date:** 5/20/19 2:21 pm

Description:Bid for Nutrition Services-Cafeteria ItemsCategory:Cafeteria Items for Goodlett Elementary

Bids Due By:

05/16/2019 11:00 AM 05/16/2019 11:00 AM

Effective Start Date: Effective End Date:

Cafeteria Items for Goodlett Elementary Bids Sealed Until:

## **Vendor Summary Information**

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
federal equipment dealers, inc.	DELIVERED AND INSTALL	NET DELIVERED	13,507.0000

HOTEL AND RESTAURANT SUPPLY

11,900.0000

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted ite	ems found fo	r the selected criteria. Item #: 25 Store Room Shelving - Per attached specs. Manufacturer & Part Number:	1 - Count metro, advance	HOTEL AND RESTAURANT SUPPLY	1,700.0000	1	1,700.00			
		Quoted as Spec'd: Yes		Product Number: As Per Spec						
		Item #: 25 Store Room Shelving - Per attached specs. Manufacturer & Part Number:	1 - Count WINCO - FED VC	federal equipment dealers, inc.	2,930.0000	1	2,930.00			
		Quoted as Spec'd: Yes		Product Number: SCS2679						
		Response Item Payment Terms Response Item Notes: ASSEME								
2		Item #: 26 Lockers - Per attached Specs	1 - Count	HOTEL AND RESTAURANT SUPPLY	450.0000	1	450.00			
		Manufacturer & Part Number:  Quoted as Spec'd: Yes	nexel	Product Number: As Per Spec						
		Item #: 26 Lockers - Per attached Specs Manufacturer & Part Number:	1 - Count WINHOLT - WL-21	federal equipment dealers, inc.	1,497.0000	1	1,497.00			
		Quoted as Spec'd: Yes		Product Number: SCS2679						
		Response Item Payment Terms	: NET DELIVERED							
		Response Item Notes: ASSEME	SLE SET IN PLACE							
3		Item #: 27 Pot-Pan Shelving- Per attached Specs Manufacturer & Part Number:	1 - Count metro, advance	HOTEL AND RESTAURANT SUPPLY	1,200.0000	1	1,200.00			
		Quoted as Spec'd: Yes		Product Number: As Per Spec						

Line Lot Number Code	Item Description Item #: 27 Pot-Pan Shelving- Per attached Specs Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: ASSEME		Vendor federal equipment dealers, inc. ATED Product Number: SCS2679	<b>Bid Price</b> 1,680.0000	Response Quantity 1	<b>Total Price</b> 1,680.00	Pending Award Quantity	Pending Award Total	Pending Award
4	Item #: 30 Fly-Fans- Per attached Specs Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: DELIVER		federal equipment dealers, inc.  - AP-2-48-1SS  Product Number: SCS2679	593.0000	2	1,186.00			
	Item #: 30 Fly-Fans- Per attached Specs Manufacturer & Part Number: Quoted as Spec'd: Yes	1 - Count mars	HOTEL AND RESTAURANT SUPPLY  Product Number: As Per Spec	800.0000	2	1,600.00			
5	Item #: 31 Walk-in Shelving - Per attached Specs Manufacturer & Part Number: Quoted as Spec'd: Yes	1 - Count metro, advance	HOTEL AND RESTAURANT SUPPLY  Product Number: As Per Spec	3,000.0000	1	3,000.00			
	Item #: 31 Walk-in Shelving - Per attached Specs Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: ASSEME		federal equipment dealers, inc.  Product Number: SCS2679	3,880.0000	1	3,880.00			

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
6		Item #: 3910 Utility Carts - Per attached Specs	1 - Count	federal equipment dealers, inc.	175.0000	6	1,050.00			
		Manufacturer & Part Number:	NEXEL - 20X30							
		Quoted as Spec'd: Yes		Product Number: SCS2679						
		Response Item Payment Terms:	NET DELIVERED							
		Response Item Notes: ASSEMB	LED AND INSTALLED							
		Item #: 3910 Utility Carts - Per attached Specs	1 - Count	HOTEL AND RESTAURANT SUPPLY	200.0000	6	1,200.00			
		Manufacturer & Part Number:	rubbermaid							
		Quoted as Spec'd: Yes		Product Number: As Per Spec						
7		Item #: 3807 Ingredient Carts - Per attached Specs Manufacturer & Part Number:	1 - Count cambro	HOTEL AND RESTAURANT SUPPLY	250.0000	3	750.00			
		Quoted as Spec'd: Yes		Product Number: As Per Spec						
		Item #: 3807 Ingredient Carts - Per attached Specs Manufacturer & Part Number:	1 - Count CAMBRO - 1B44148	federal equipment dealers, inc.	268.0000	3	804.00			
		Quoted as Spec'd: Yes		Product Number: SCS2679						
		Response Item Payment Terms:	NET DELIVERED							
		Response Item Notes: DELIVER	ED							
8		Item #: 3913 Open Pan Racks - Per attached Specs Manufacturer & Part Number:	1 - Count WINCO - ARK.20	federal equipment dealers, inc.	120.0000	4	480.00			
		Quoted as Spec'd: Yes		Product Number: SCS2679						
		Response Item Payment Terms:	NET DELIVERED							
		Response Item Notes: ASSEBLE	ED AND DELIVERED							
		-								_

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 3913 Open Pan Racks - Per attached Specs Manufacturer & Part Number:	1 - Count rubbermaid	HOTEL AND RESTAURANT SUPPLY	500.0000	4	2,000.00			

Product Number: As Per Spec

Quoted as Spec'd:

Yes